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G =6.6726 x 1011 [N - m?/kg?]

(12. 1)

F=G%ro
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Fp=mpa

FQ =Mga

n
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Fe,Fo
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Slo

F(Am)
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12.4

(12. 4)
Eq

(12.5)

(12. 6)
(12.2)

(12.7)

(12.3)  (12.4)
(12. 8)
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(12.3)  (12.4)

F=mag

do

12.5
A B F Was
Wag = [ F-ds
(12. 6)
Wpg = LB\ mE, - ds

m=1
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oas = [R Eq - ds (12.9)

PnB = A B
B
Cy
C,
O
A
12.1
AB C1,Co
C1,Co A B
Eg
Eg
rotEy =0

ClsCZ

¢c, —¢c, =lc, Eg-Us—Jc, Eg-ds
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pc, —Pc, Eg

jcfz Eg°dS:_jC2 Eg‘dS
A-B-A C

(ﬂcl—(ﬂczz §CEg’dS:§C1 Eg’dS‘i‘jc’2 Eg’ds

§CEg‘dS:O

(11. 40)

§cEg-ds= [ rotEq-dS

rotEy =0
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rotEqy #0
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rotEy =0
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Fuw

WAB =§i FW°dS

rotFy, =0
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Pg
pg=—1,Eq-ds (12. 10)
Eq
r 00 Pg
?g r
Eq
ds=dr
Ey= Ci_z (12. 11)
(12. 10)

-214-



(pg)r
(pg)r = (12.12)
Eq Pg Pg
Eq
U Pg
m
U =mey (12. 14)
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r=oo,v=_0
1 G
V2=
2GM
Vu=+v"T1_

12.3

(12.11) E,
(10.6) a E,
(12. 15)
(12.11) ds=dr
(12. 16)
C=0
(12.17)
(12.18)
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Vu

r=o0,v=0

(12.12) (12.17)

09 =3V: =3V (12.19)
12.9
12.8
M P r m

Q m P Q

i = - (12.20)

m
= (12.21)
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(12.3)  (12.4)

dr
Vzg
dv GM
v =5
vdv = —dr
v2=2,C
r=oo
1 G
V2=
_ 41,2
Pg =2V
12. 10

d?r dv
a2 = Var

(12. 17)
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C=0
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(12.22) r=oo V=Vq
2= 88 12 (12.23)
m
smv2 —m& = Tmv3 (12.24)
T U E
T+U=E (12. 25)
P=mv
= 2my?2
(12. 24) (12. 16) (12. 20)
(12. 16) (12. 20)
(12. 24)
mv %mvz
(12. 24) mv
(12. 20)
d(gwtv) — _m& (12. 26)
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smv2 v mv

P
dT
P=%
T = [ Pdv
(10. 8)
d3mvd)  dmy)
ds — dt
ar _ dP
ds — dt
dgmv?)  dmSM)  dgmvg)
a ~ dr dr
(12. 24)
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(12. 24)

(12. 29)
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(12. 24)

Ll 2_ 1 2 _

Vu

(12. 30)

L2, L 2 _

12.11

(12. 19)
1mv;
Vo = 0
(12. 30)
Vi =-V}
smvZ=E
E=2mv2

-221-

(12. 30)
V=V,
v=0
(12.31)
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P =|mava|+ [mova|+ ... + My (12. 32)

T =2m1V3 +3mMoV3 +... +3m,V2 (12.33)
(10. 8)
dgzm?  dmv)
ds - dt

Zmv2 = [ mvE = [ mvdv (12. 34)
(12. 32)

miV1i =MoVo +M3Vs (12 35)

v
I myvidv = | movadv + [ mavadv (12. 36)
\Y Vi,Vo,Va V
Vi =av (12.37)
Vo =hv
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V3 =CV

a,b,c
(12. 36)

{ miavdv = | mybvdv + | mscvdv

Fmiav? = $mobv2 + 5mscv?

sm1(av)? = sma(bv)? +5ma(cv)?

(12. 38)
(12.32)  (12.33)

(12. 30)

(12. 33)

(12. 38)
(12.38)  (12.37)

ZMV1V = SMoVoV + SMaVaV
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miV1i =MoVo +M3Vs

(12. 38)

12.12

(12. 31)

10nr2 102 12
>MC; + SMV{ = Smvg
Cr

Vu:O

1 1
FMc? = 5mvg

Ve:C
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Lopr2 L2 L2
>MC{ + SMvg =5mc

c2=c%2-v2

2
cr=cy1-=¢
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(12. 46) Vy>C

(12.18)c = &1

2GM 2x6.67x10-11%5.977x10%* _
= =008 OIIAD _ 8 86 107-3[m]
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Vy>C
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